The Parent Function: y = Sinx

7 Period= 21

7

Amplitude= 1

Eq of Midline: y =20

]

y = asinbx + k
|a] = Amplitude
a<0 represents an x-axis reflection (upside down)

27

Period = T

k: Vertical Translation (midline: y=k)



1. Sketch one period of this Sine function. Label the coordinates of
all Max, Min, and points on the midline.

y = —8sin12x — 3 IS =
Eq of Midline:

Period =

2. Write the equation of this sine graph. Amplitude =

Iy (&-.11) Eq of Midline:

Period =
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3. Write the equation of this sine graph.

Amplitude =
Eq of Midline:
Period =
= &
Amplitude = 5 3 Midline: y=28
(%JB))
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Period = 11
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y =aSin(x-h) +k

h: Phase Shift

Period = 2 Amplitude = 5
b= | q= 5—
Midline: y=0
(+3%,0) k=0
[ Phase Shift: - right
(xthy— Y —TC

EQ:)/:: ‘7&)’)(/)(‘375



y=a Ix+ h Phase Shift of h units

Phase Shift of h units

Y=sd il

Upside Down (x-axis reflection)

Phase Shift of h units

— o and
y=d \/ (X - h) Backwards (y-axis reflection)

y = Sinbx y= Sin(x - h)
b affects the period h affects the horizontal position.
(horiz stretch or shrink) (horiz translation left or right)

How do you write an equation that has both
abandan h?

y = Sin(b(x-h))



Write the equation of this function.

Parent function: Sinx  Phase Shift: —_ |eft %f_pgnéﬁ? 811)"

7C
ﬂ:@glﬂ(b(f‘&}bhpsme -down ] = Y\Lﬂ 3 /l,'O
Midiine: y=-3 }/) ==
Amplitude = 10

EQ: 9 == lDS\h ))’3

y = aSin(x-h) + k

Starting Point:  (h,k)




y = Sinbx y= Sin(x - h)

b affects the period h affects the horizontal position.
(horiz stretch or shrink) (horiz translation left or right)

N\ ~

How do you write an equation that has both
abandanh?

y = Sin(b(x-h))

y = aSin(b(x-h)) + k

a— Amplitude - Vert strecth or shrink.
Also x-axis reflection if negative

b —— Leads to the Period = 2m/b - Horiz stretch or shrink

h —— Horiz translation - Phase Shift

k—— Vert translation - Eq of the Midline



Write the equation of the transformed Sine function with the
following characteristics.

- Amplitude = 3 a="- -
-Upsidedown7 2 TC 4 =_&7—X’-{b ,&
- Period = 3 —> ﬁ'_ ot 37("

- Midline: y = -7 = V7 \{

. Phase Shift: Z right = }y }/: S m(%()( :7’,97_-

y = 17sin(9(x+ ZT’T)) 4

Use the above equation to find the following:

Period = 9_:-%1- Amplitude = '7
Phase Shift: A TL | @Y Eq of Midiine: \j :-"L*
5



Write the equation of this graph as a Sine Function

(L2 s) c9'/TPeriod =47(_
- Yr=h

Amplitude = 7
Eq of Midli[ae'____:y/

Phase Shift:

Write a Sine equation for this graph.

Period =a7—7C,
Amplitude = 3

or y  EqofMidingf=:3

Phase Sitt Ft

(£.6)

y:ﬁSzn(X”(fc >



